

Relations Inverses (1) Solutions

Instructions: Utilisez l'information donnée pour remplir chaque case.

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 1 + \boxed{0} = 1 \\ 1 - 0 = \boxed{1} \end{array}$$

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$

$$\begin{array}{r} 0 + \boxed{1} = 1 \\ 1 - 1 = \boxed{0} \end{array}$$